
SAP ABAP table AGSWC_INCIDENT_S {structure for a incident}

AGSWC_INCIDENT_S

SERVICE_TYPE [CHAR (4)]

VALUATION_TYPE [CHAR (6)]

DNOH_TYPE_NOTIF [CHAR (6)]

CRMC_SRV_TYPE

CLIENT [CLNT (3)]

SERVICE_TYPE [CHAR (4)]
 AGSWC_INCIDENT_S-SERVICE_TYPE = CRMC_SRV_TYPE-SERVICE_TYPE 

0..N

0..N CRMC_VAL_TYPE

CLIENT [CLNT (3)]

VALUATION_TYPE [CHAR (6)]

 AGSWC_INCIDENT_S-VALUATION_TYPE = CRMC_VAL_TYPE-VALUATION_TYPE 
0..N0..N

DNOC_TYPE_NOTIF

CLIENT [CLNT (3)]

TYPE_NOTIF [CHAR (6)]

 AGSWC_INCIDENT_S-DNOH_TYPE_NOTIF = DNOC_TYPE_NOTIF-TYPE_NOTIF 

0..N

0..N


